

KOTI TEHTÄVÄT TI 1.11.

S. 22 : T. 92

$$a) -5 + 3 \cdot 2 - 4 = -5 + 6 - 4 = 1 - 4 = -3$$

$$b) -5 \cdot 3 + 2 \cdot 4 = -15 + 8 = -7$$

$$c) -5 \cdot (-3) - 2 \cdot 4 = 15 - 8 = 7$$

S. 22 : T. 93

$$a) 4 + \underbrace{(-3) \cdot (-4)}_1 : (-2) = 4 + 12 : (-2) = 4 + (-6) = 4 - 6 = -2$$

$$b) -9 + \underbrace{(-3 \cdot (-2) - (-6))}_1 : 3 = -9 + \underbrace{(6 - (-6))}_2 : 3$$

$$c) 6 - (-7 \cdot \underbrace{(2 - 4)}_1 + 5) = 6 - (-7 \cdot (-2) + 5) = 6 - (14 + 5) = 6 - 19 = -13$$
$$= -9 + \underbrace{(6^2 + 6)}_2 : 3 = -9 + 12 : 3 = -9 + 4 = -5$$